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i Unit 1
ICT Fundamentals

iple Choicc Qucstions
My The connection of computers jn 0
! ’ gcographil?ﬂl arca is called:
mE AN ¥ (b) MAN
€ [ the high rate of distortion in

). munication cnvironment which of the

Follll:i“'i“g communication media is most
0

mp]’iﬂtC?
P Coaxial cable (b) Twisted pair cable
{f)Fith' optic cable v’ (d) TV cable
""" Which of the following network
d'cﬂ'ce transmit;s message intelligently to the
jestination device?
(b)  Switch!

9 Router v’
(d) Access Point

- ¢ Which Technology creates computer-

(@

gmmted simulation?
@ Computer Assisted Translation

(b) Distnbuted Applications
©) Virtual Reality v/
Machine Learning

5,  Which technology uses laser beams to
create images? |

@  Artificial Intelligence

b) Holographic Imagingv’
(¢) Robotics (d) Distributed Applications
- 6 Which technology provides
tleccommunication at high speéd?
@  Virtual Reality |
()" Distributed Applications
)  Robotics (.56 v

e Sl e i, T L o

Short Response Questions |
0l Diffe!'entia_te between LAN and WAN.

389

LAN | WAN
An  interconnected | A global network of
Systtm  of ICT | ICT devices is also
\Gevices in a small | known as Wide Area
etographical  area | Network. It is a
(such as g school, | network that exists
esidence, laboratory | over a large-scale
) is known as geographical  arca
Local Areq Network, | that connects
different smaller
networks, including
local area networks
(LANs)etc. |
For example, a

banking

system |

_Computer Science-8
where hundreds of |
branches in different
cities are connected
with each other in

| order to share their
.8 official data.
Q2: What arc the benefits of using

networks?
Ans:. Networks can be used for simple task like
sharing a printer, software, games, messages
etc. It allows the users to communicate with
other easily through electronic mail, chatting,
video conferencing. |

Q3: What is the role of networks switch?
Ans:  Network switch is a device that allows
computers in a network to connect with one
another using  wired\. .¢6mmunication. It
receives message-from any device connected to
the network and transmits that mcssage directly
to its destindtion computer. It maintains a table
(MAC) for forwarding data.

Q4: Differentiate . between wired and
wireless networks?

ADS;
VWired network Wireless network | _i
Wired network | It refers to data
refers  to data | transmission via
fransmission via | wireless.
cable.
£xamples: Twisted | Example: Radio
pair  cable, fibre | waves, Microwaves, |
optic rable. Infrared waves
Installation: Installation:  Easy
Difficult  (because | installation.
more number of
compound are used
during  installation
and required number
of cables for
connecting each and . |
everv computers.
Cables: Ethernet, | Cables: Not
copper and optical | required, works on
fibers. radio waves and
microwaves. |
Security: Good Security: Weak :
I
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Interference: Less Interference: lligher

(networks arc | (the potential  for

invisible to other | radio  interference

wired networks. The | due to weather, other

presence  of  one | wireless devices, or

wired network has | obstructions like

no affect on the | walls) |
performance of | |
another wired

network. | |
Q5:  List different tasks' that can be

performed by robots.

Ans: Robotics deals with the design, operation
and application of robots to perform tasks done
traditionally by human beings. Robotics are
widely used in automobile manufacturing, |
packaging, laboratory research and cleaning
home. Industrial robots perform a variety of
tasks such asspot and gas welding, scaling,
assembly, and handling various tools. Any
form of heavy labor can now be performed by a |
robot. Companies such as Caterpillar are
making headway in automating even more of

its heavy equipment.
Q.6. Why distributed applications are
used?

Ans: A distributed application is a_computer
software installed on servers in a hetwork: It
~ runs on multiple computers at the sometime to
perform a single task. It is used when workload
1s too much for a single server.to handle.

Examples: Cellular network, social networks,
on line banking and super miarket check-out

system etc.

Q7:- What is the ‘purpose of block chain
technology?

Ans: Blockchainm,1s a chain of blocks that|

contains groups, of information that cannot be |

changed or'deleted. When information is tilled
in a block, it is closed and linked to other filled
blocks to form a chain known as blockchain. It
is a type of database that provides secure
recording of digital information. Blockchain
database is used in banks and financial services
for secure recording and sharing of digital
information such as transactions.

() -

[ Ans,

Py |

Computer Sele
; - /]
Unit. 02 B - |

DIGITAL SKILLS

Multiple Choice Questions:

1. The basic unit of a worksheet intg
you enter data in Excel is called a

(a) Cell v (b) Table

(c) Box (d) Column
2. Which Microsoft Excel function is yge to
find the highest value in the given range?
(a) SUMC() (b) AVERAGE ()

(©) MAX()»  (d) MIN()

3. Formula in Microsoft Excel must sty

with:
(b)
(&) + &)} +
4. Which Microsoft “Exeel function checkg
whether a condition.is true or false?
() SUM() (b) MIN()
(¢c) IF()v (d) AVERAGE()
5. Excelis used to prepare a
(a) Presentation - (b) Email
(c) 'Sprcadsheetv”  (d) Webpage
6. In a selection, to calculate the number of
numeric entries present, function
(a)"Sum (b) Average
(c) Countv’ (d) Value
Short Response Questions:
Q1: Write down the uses of Microsoft Excel.

Whig},

v

| Ans: Microsoll Excel is used to recognize and
| manipulate data and

using formulas and
functions. it provides a visual representation of
data that makes it casier to analyze.

Q2: What is the purpose of formula bar?
Ans: The formula bar shows the contents of
the current call and allows you to create and

| view formulas.

Q3: Differentiate between worksheet and
workbook,

Work book:

In Microsoft Excel, a workbook is a collection
of one or more worksheet in a single file.
Worksheet:

Worksheet is a collection of cells organized in
rows and columns that allows you to organiz¢
information as a table

Q.4. What are the steps to create a Pie
chart? |
Ans. 1. Click Insert > Insert Pie chart, and

then pick the chart you want.
2. Click the chart and then click the icons next

| to the chart to add finishing touches.

- *_-HF—_-_-——-_“-—_-—_-—-—_—_—-'“—_"-
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| 1. Write a formula to calculate total score of|

adent Resource Book 391 - = __Computer Science-8

Scores

" Shoaib
Malik

pmn  (b) Formula bar

) ebar (&) Ribbon

% Vertical Scroll bar . .
E;) Hoﬁzontal scroll bar | -

8 Sh?ct tahll (!1)) gtg;vaddress . Unit.03

Acave = { Algorithmic Thinking and Problem
Name Box ; _

. Solving

I Consider the following worksheet Multiple Choiee Questions.

oqtsining scores of top five Pakistani|l- Computers are“able to solve problems by

tsman against New Zealand. performing operations in: _
e - . (a) .Nanosecondsv’ (b) Minutes
T 5 T First | Second | Third | Total Average | (c)", Days (d) Weeks
%L,__._""‘“h mach | match | score | score | is a graphical representation of
{. |Babur Azzm 57| 34 | 105 | 196 6533 L= | an algorithm. .

17 [t Zammm o [ » i n| 9 (a) Piechart - (b) Barchart

| s n | 85 | 6 | 13 | 5067 (¢) Flowchartv’ (d) Graph
T lsetmrimed | &5 | 12 | 4 AT J. Algfxrlthms are converted to for
[SwabMalik | 6 | 75 | 49 | 4333 execution on the computer.

[ 8] y (a) Flowchart (b) Pseudocode a Programv’

[l |\inimmm score | Y | j

| (c) English language (d) Program

4. Repetition is construct that allows the
Babur Azam in F5. « steps of an algorithm to be

As: - =SUM(CS5:E5) multiple times.

L. Write a function. to calculate total score of (a) Tested (b) Executedv’

Muhammad. Hafecez in F7. (¢) Implemented  (d) Counted

?BS: =SUM(CT:E7) 5.  Conditional  statements are the
. Write a function to calculate Average | checkpoints in the program th '
iore of Muhammad Hafeez in G7. (a) A condition is true

Ans: =AVERAGE(C7:E7) (b) A condition is false

4 Wl:ite a function to calculate maximum |(c) Behavior according to situationv’
Kﬂ ' second match in D10. (d) Nature of algorithm
. =MAX(D5:D9) 6. Value of a variable

% Write a funct ini | e
‘ unction to calculate minimum |(a) is fixed (b) can be changedv’
tzsl"e.l_l_'_l third match in E11. (c) Depend upon situation y
- =MIN(E5:E9) (d) 1s always based on condition
W a bar chart to show average score|7. Nested

at determinces:

' ra

| Weach Al loops always have

number of loops.
(a) Two (b) Three (c) Four
(d) as many as required v’

| (8) _____ can be directly input into the
¥ computers. |

— A bR

—

—
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( ) I- IO“’rchan int weekdayOfrivat v .. // 0, 4, 2, 3, 4, 5, er s enfe_a

(a) Pseudo codev’
int dayelnMonth = .. 1/ 2, 29, 10, ar 1)

(¢) C{)dcfﬂﬂr code d) Al .
< ll l . I F. ‘l‘ . ( 2 ‘gﬂrllhm for (ine hiank = D) blank < weokdayOf7icee; hlanused) {
i [-] l l l “-.' ONL;I‘J Qllltﬂj I ]ONI; l?'t 9 “Ftln! ( "“ f’ blanks for tde d'lfl' ef llﬂ o
l h

I. Explain the features of an information | im see -
for [Lrt weakday = woaekdayOITirst; weakday < 7; voudayey) |

processing model,
Ans:  Information Processing Theory uses a 1mmmwm e

Systen out.println {);

computer model to describe human learning.
Information comes in, it gets B T
es 1n, 1t gets meCSSCd, and Lor (int weakday » 0; weakday < 7 &6 date o= daysinMonen

then it gets stored and retrieved. For larger and System.out peintt (*454", datess);
complex problems, we nced to iterate (he it i

inputoutput steps for a number of times, [ i
producing intermediate results to solve part of
int weekdayOfFirst = ...; // 0, 1, 2, 3, M, 5, cr &

problem or whole problem. asfeciiing ¥
) int dayslnMonth = ... /[ 28, 2§, 0, s 31
2. Demonstrate the main steps to SOIve A int date » 1 - veotdaydfFazst: \
problem. vhile (dite <= dayslnMonth) {
Ans: Step 1: Identify the Problem. As obvious for (lnt weekdiy = 0; vafigs 7 @ % <= Caysisientd; weakiy) |
as 3 & Ny : if (date >= 1) { |
1 L may sound,_thc first step in the problem- systes.cur. polfTTNE G, dafor);
solving process 1S to identify the root of the ) olso |
1Ssue. Systeaffut .oRMtINES °) !
Step 2: Generate potential solutions. ..... .... ] YRR fuph e e o
Step 3: Choose one solution. .......... ' ,
Step 4: Implement the solution you've chosen, | (Sygs.cct println ();
---------- } |
- | . .
Step 5: Evaluate results IS' Differentiate between scope and
limitations of a probiem.

Ans: Scope defines the boundaries of what a

Step 1: Understand the problem _ _
. solution must provide to meet the requirements.
Whereas, the limitation of a problem refers to

Step 2: Formulate a model
Step 3: Develop an algorithm the aspect that —are  beyond  the
- study/implementation of the problem.

OR

Step 4: Write the program ACTIVITIES:
Step 5: Test the progran | 1. Write a pseudocode that tells that the
_ number they entfered 18 ,
- Step 6: Evaluate the selution. S{l:)llzl ;:euzj? égdf; ed is not & five or & §iX
3. How nested loop$.are useful in arranging |

- ‘) . -
a calendar. : Read 1sfive

Ans: A nested “loop 1s a (lfmer)_ loop that If(isfive = 5)
{he loop body of another (outer Write “your number is 5”

loop). Ncsl;tcccll loopfs arc ulic,flul t\ivhen an iterativell gy oo if (isfive = 6_
task is to be done for multiple /mes. Write “your number is 6”

Now for arranging a calendar, it is easiest O] pioa
' » weeks, and an it : :
have an outer loop print the we ks, and Write “your number is not 5 or 6 i

inner loop print the days of the week. Printing OR
a1l the months in a year might have three nested

loops.

appears 1n

| Read isfive
If(isfive = 5 or isfive = 6)
Write “your number is a 5 0Of 6”

Else
Write “your number IS not 5o0r6” s

OR ) /’]

Readisfive
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. Computer Science-8
| F{!ﬂlfvc s not 5 zmdb isfive ls‘i 1;01 6% | 3. Where will be the Sprite located if value of
(1((isV umber 18 not § or 6™

| lﬂls , ct‘yo_lll' n

S ‘var’ variable comes out of to be 10 in the
; W following code block?
T ite pseudomdc that performs the T

- ing: Ask a user {o enter a number, If wlag't_jf{*_;!-__af} Ih*.kgd
oY e is between 0 and 10, write the| Blor e o

gor site the word red. If the number is
0 :cn 20 and 30, write the word green. If
| ha:}“a oy other number, write that it is not a
e cc{colﬂr Optiﬂll. -

| f“:'r:_‘te nplease enter a number"

“ead colornum

llllcﬂk:'rnum >0 and colornum <= 10)
|

write blue
Jise If (colornum >0 and colornum <= 10)

ke c. 100,0 d. 100, =100
wiite " | SHORT RESPONSE QUESTIONS
else lf(CZ'IOL“”m >0and colornum <=10) - |1. For the following code block a sprite will
write DU | turn to 30 degrees:~How many clicks are
elil; T — required for a sprite to complete a full cycle.

3, Give pseudo code of rolling a dice
program between 2 players, turn by turn. If
dice rolls a 6, the same player rolls the dice 3]
;g?-'in{witc “Two players roll a dice’l’ o~ [ Ahs: 10 clicks are required for a sprite to
. If “player 1 rollsa 6” 7 omplete a full cycle. ;
Write “Player 1 rolls the dice again"* \ Q3: For the maze game, duplicate the map
Eise if “player 2 rolls a 6 N\ ) l‘maze map’ and rename it as ‘maze-map2.
e o ol T Next change the color of lines in the new
te “Player 2 roll - : +
E]s?n bl d;ce gggm | map from blue to red. Add scrips such that

Write “player 1 roll§the dice the game becomes a multi-level game with
s ) the 2 district images.

Unitlo4 N |Ans: For additional levels, we can simply
th _ choosc the maze-map sprite and duplicate it as
Programmmg |4 new costume and rcname it. Thereafter, we
Multiple Choice,Questions: | can rearrange or change the existing lines and
1. Which iS'met a‘construct of programming | draw new ones to add difficulty level. This
languages? o ¢ way, new maze design is crealed in no-time.
a.Sequence b. Condition Additionally, you can download maze 1mages
¢. Loop d. Businessv” from www.inventwitchscratch.com/downloads
2. Loop within a loop is called __loop. |and load these Images as new sprites, as well.
& Nestedv’ b. Next To provide a better understanding, let's use
3‘ Newest d. Narrow such a maze-image for our next level
n.e \:t:llijﬂe[;:;;gmes infinite loop if a conditionl o' As a first step, we downlqad our maze
. — - i?AI —_ background and load this Image  as
g - LSS | anqlher costume to our ‘Maze-Map’
4 L d: ZERO sprite. -
n‘um:;:.ﬂr ( ) function always a 0 Ne>lct, ]fld_just the position of this image
b T s b. Rounds up such that starting point of both the maze

Images turn out to be same. This way
“ Cycles down :

d. Cycles up for each level the starting position of

= = - -

@ - §
. Er ]
- S Ll i R e T— s o i L] LT 1. - & L . B - — - a R - I = = - » - A = = — I A A =
q
#
b
- 3
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Pico' will be same and no additional |
code will be required. # Driver code

* Before proceeding further we need to |8, P, ¢, d ‘="1: 23 3,4

ensure first that the movement of 'Pico' | print("Yes" if isRectangle(a, b, ¢, d) ¢lge "Non
sprite on the new map with arrow-keys
is working and does not cross through [Q6: Write a program in python f, the
the lines of the maze. Since, the color of | following output. (print a triangle),

lines in both the maps is same; therefore *
all the code that we embedded earlier 4 %
will work in the new map, too. If not, * % %

then it means colors in both the maps * %k * *
are different. Then, either adjust the line &

color of both map to be same or add | A —_—
additional code for 'touching color’ rows = Int(input("Enter the number of rows:"))

script for new map. k =2%rows -2 #Itis used for number of spaces

e Now, we are ready to load the new map| foriin range(0, rows):
in the game. For this purpose when " forj in range(0, K):
Pico' touches the end-mark in a level.
the next maze-map sends a broadcast
message. A broadcast message is used

- to activate scripts in other sprites. orJinNgge(. i + 1)
Q4: Take a 4-digit number as input for a RNY("™ ", end="") # printing star
year and check if the year is a leap year or print("") .
not. Display your output as: “The year 1979 Q7:  Write a program in python Which
Is not a leap year” or “The year 2020 is & displays square of the numbers and prints ip
leap year®. the form of a triangle, as shown below.

print(énd="")

k = k- 2% decrement k value after each iteration

# Python program to check if year i§ a leap-year 1
Oor not 4 9
Year = iIlt(iIlpUt("El]teI‘ the Year: ")) 16 25 36
Year%100 !=0))): | ' |
print("This Year %d s a Leap Year" k=0
%Year) rows =6
else: prev =0
print("This Year %d is Not the Leap Year" | fOr i in range(1,rows):
%Year) k=0

Q3: Take Jength and width as input from for ) in range(1,):
the user for a quadrilateral and check if jt js| While k < sum(range(i,rows-1))/4:

a square or a rectangle, print(end="")

# A simple program to find if given 4 k+=1

# values can represent 4 sides of rectangle ifj==i-1andi==2:
prev = i+j-1 |

# Function to check if the given print((i+j-2)**2, end=" )

# integers value make a rectangle else:

def isRectangle(a, b, c, d): print(prev**2, end="")
prev+=|

# check all sides of rectangle combinations print()
if (a==b and d==c) or (@==c and b==d) or
(a==d and b==c¢);
return True
else:

return False

— i

Scanned with CamScanner



Computer Science-8
-""'"""———-......_._ [

gy ot o8 \K
yqt?ms, SCrvices,  and Infrastructure, in
particular; protecte

_ human |
lcchoicc Questions: _ . Q3. What COmputer gystem should he
\Iﬂmpﬁ " be followed while using digital Rmtccttid from unauthorized accegy?
|.R“l|;)g}' is known as: _‘US- Software firewall - A software firewall
{;ch“ompntcl’ application 1S a soflwarc PTOgram you ingtall on your
4 Compulﬂ' interaction computer to helps protect it from unauthorized
b- Compulﬁl' cthicsv’ ;_nwmlng and - outgoing data. A software
‘ g;mpuwf safety irewall will prote
|

it ters is: Q4. How creator of copyright work
f"“'p:met privacy b. Copyrightv | financially benefits from it?
N garism d. Online safety Ans.  Copyrights grang, he

B i 1€%, owner the
: Malware that  transmits itself exc]‘uswe‘ right to reproduce, and distribute
b pmatically over a network to infect other | COPi€s of the work, frepare e

g .

rivative works,
; ters is: and Pcrfonn, dis_play, and’ broadcast the work
fum\lr’ims b. Wormv’ publicly. Copyrgght ownership entitles the
! \dware d. Spyware owner to authorize Gthers to exercise any of
.i ] ialware that pops ull: a\c:rvertisement - | these exclusive rights as well.
i . Wom .
lig;,uswam d. Adwarcv’ Q.5,

Why digital piracy is a crime?
Ans. “Because a software pirate does not have
[proper.permission from the software owner

: Toreport a cybercrime, you can contact
\ L www.ndma.gov.pk

to
1 |} www.nr3c.gov.pkv’ |take or use the software in question, piracy is
1b' www.fbise.edu.pk [the cquivalent of theft and is, therefore, a
6 WY, s .
¢ www.nadra.gov.pk fcrime.
. The volunteers who help in prevention of -
I‘:yl:n“:rlzrime are called: 1Q.6. Why hackers break mio computer
| ¢ Cyber friend b. Eagle scout Systems? | .
. Cyber scouty” d..Cyber bully Ans. Hackers break into computer systems to

|steal data, funds, and critical business
SHORT RESPONSE QUESTIONS | iInformation without the owner’s consent. Any

connected system is at risk of being exploited
Ul: Who is cyber‘scout? How can he assist | DY computer hackers.

| mpreventiontef cyber crime? _

As. - Cyber Soout'is trained to identify cyber | Q.7. How spyware can be harmful? .

mme activities) and equipped with adequate | AnS-  They can do anytl}mg from erasing the
meventive  knowledge  to help fight thishdata O your computer to hijacking your
uenace. He understands the risks associated | COmputer to attgck other systems, send spam, or
With Virtual socializing and he works to|host and share fllcgal content. Spyware .collccts
mmote Cyber safely in his surrounding | YOUr personal information and passes it on to

vironment Interested third parties without your knowledge
02 Why we need cybercrime laws? |OF conscnt

4. Cybercrime law 1dentifies standards of
“eptable  behaviour for information and
“MMmunication technology (ICT) users;
- Btablisheg socio-legal  sanctions  for
%Frcﬁme; protects ICT users, in general, and
Miligates and/or prevents harm to people, data,

k

y
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. UNIT.06
ENTREPRENEURSHIP IN

DIGITAL AGE

Multiple Choice Questions:

1. What is the component of business plan?

a. Marketing Strategyb. Sales Strategy

C. Operationsy” d. Digital marketing

2. Which of the following is the example of

Quality Assurance?

a. Validation b. Verification

¢. Documentation d. Software testing v°

3. Digital marketing is often referred to as
9

a. billboard b. online marketingv’

c. TV d. radio

4. Social media marketing is a (ype of

?

a. Digital marketing v/

b. Traditional marketing

¢. Industrial marketing

d. Telemarketing

5. Which of the following are thesclements

of marketing?

a. Product, price, promotion and people

b. Product, price, promotion afd placev’

¢. Product, plan, promotiop-and place

d. Product, plan, promation and people

Short Response Questions

Q.1.  Describeq the basic components of

business plan.

Ans. Components of business plan includes:

e Customer® needs: Customer needs is

the / process of identifying the
requirements of the customers about a
product or a service.

Product design: Product design is the
process that involves steps to launch a
successful product based on user
requirements and ultimately acquires
customer satisfaction, theoretically. The
key to successful product design is to
understand the exact requirement of the

end-user for whom the product is being
designed.

__Cw%
o Costing: A business plan inclygg, L
set up estimated cost like lega] ¢

attorney fees and license fees etg.

e Operations: The operations inclygy,
the objectives, goals, procedures
timeline of your organization,

Q.2. Describe the four elements
| marketing. .
Ans. e Product (or Service).
0 Place.
e  Price.
| ° Promotion.

Q.3. What is the Adifference betweep
payment and transaction?

Ans. A payment_istthe tzade of value from
one party (such a§ a person or a company) ¢,
another for g@ods, “er/scrvices, or to fulfi)) q
legal obligation. Payment can take g large
variety off forms. Barter, the exchange of ope
good O serwi€e for another, is a form of
payment.

LA frimsaction 1s an agreement between a buyer
ang a Seller to exchange poods, services or
Minanhcial instruments. In accounting, the eventy
th;u affect the finances of a business must be
recorded on the books, this will be called
accounting transaction.

Q.4.  Why a quality assurance is important
to assess the quality of a product or service?
Ans.  Importance of quality assurance

It yiclds high-quality product offerings that
build trust and loyalty with customers.

The standards and procedures defined by a
L
delects belore they arise

Q.5. Write down three advantages and
three disadvantages of digital marketing
Advantages:

o Global reach - a website allows you to
find new markets and trade globally for
only a small investment.

Lower cost - a properly planned and
well  targeted  digital  marketing
campaign can reach the right customcrs
at a much lower cost than traditional
markeling methods.

Trackable, measurable results

measuring your online marketing Wﬁ_h
web analytics and other online metriC

—

| tools makes it easier to establish how

| effective your campaign has been. You

i — X

-
— e ——— —— e — — N— 5 — N ——— N o —
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R an obtain detailed information about

: . Ms Words Short Cuts
hn“v C“S“““L‘l‘s n.‘,\ﬂ :r'(“"" \\?cbsltc or | I S (:ol“n‘“nd T Dcscripli‘]“
respond to your advertising, No l
L S iy g o— —
dvan{ages: l__[Cul+N [ New Documents

; pIS: Skills and training —~ You will need to NS

| ensure that your staff have (he right -—-3-__-.
| knn\\'lt‘:{'ﬂﬂ and C?\'.]'Iﬂl'lisc (O carry oul A —

Cirl 0 4__| _Open Old Documents
Ctrl+5 | Save Documents

, - : 4 4 1Ctl+P Print Documents N
digital marketing with success. lools, || 5 Curl +C [ TFirst sclect text after |
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k=0
for j 1n range(1.1):
4while k < sum(range(i,rows-1))/4:
print(end="")
k+=]
ifj=1-land1=2:
prev = 1+j-1
3 print((i+j-2)**2, end="")
clse:
print(prev**2, end="")
prev+=]
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